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FIRST YEAR B.P.Ed. DEGREE EXAMINATION, MAY-2017
(Regular/Supplementary/Improvement)
CC15UBPE1T4-HISTORY OF PHYSICAL EDUCATION

(2015 Admission Onwards)
Time: Three Hours Maximum: 75 Marks

Answer any five questions of which three questions should be from Part A
And two questions from Part B, including question 8 which is compulsory.

Part A
1. Give a detailed note on Educational System in Ancient Rome
(1 x 15 = 15 marks)

2. A.Expand the following:-

(a) NPED

(b) NDS

(c) NYK

(d) SPAI

(e) IASSPE

(5 x 1 =5 marks)
B. Match the following:-

(a) Circus - 1982

(b) Didascaleum - Germany

(c) Asian Games - Music and Grammar
(d) SAI - Rome

(e) Johann Guts Muths - 1984

(5 x 1 =5 marks)
C. Fill in the blanks:-

(a) YMCA (Madras) College of Physical Education was formed in the year ...............
(b) Central Advisory Board of Physical Education and Recreation was constituted in the

(c) DronacharYa Award was instituted in the year .................
(d) v sereerenreeeene..iS the father of Swedish Gymnastics

(e) The Pythian Games were held once in 4 years at Delphi in honour of God ...............

(5 x 1 =5 marks)



3. Briefly explain the following:-
(a) Differentiate Spartan and Athenian system of Education
(b) SPAI
(c) Gladiatorial Combats (3 x 5 = 15 marks)

4. Describe the following:-
(a) Rajiv Gandhi Khel Abhiyan
(b) Physical Education in Ancient India — Vedic and Epic Period
(c) NYK (3 x 5 = 15 marks)

5. Write Short notes on:-
(a) Origin of Modern Olympic Games
(b)Sports Authority of India
(c) Physical Education in Japan (3 x 5 =15 marks)

PartB
6. Give a detailed note on Physical Education in Contemporary India
(1 x 15 = 15 marks)

7. Write short notes on:-
(a) Pan Hellenic Festival
(b) National Sports Awards
(c) G.V.Raja
(3 x 5 =15 marks)

8. Write short notes on any five of the following:-
(a) Thermae
(b) Olympic Flag
(c) Rajiv Gandhi Khel Ratna Award
(d) NSS
(e) Lingiad
(f) Adhoc Enquiry Committee 1958
(g) Turnverine Movement in America
(h) NAPESS
(5 x 3 = 15 marks)
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